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QUESTION 1

Records on a public blockchain are deleted by?

A. They cannot be deleted

B. Filing a request with the Ethereum Foundation
C. Recalling the transaction of Etherscan.io

D. Deleting the transaction from the app that sent it

Correct Answer: A

QUESTION 2

Which of the following is considered the most popular public key encryption algorithm?
A. RSA

B. AES

C. MD5

D. PGP

Correct Answer: D

Reference: https://medium.com/@ConsenSys/blockchain-underpinnings-hashing-7f4746cbd66b

QUESTION 3

What component on the blockchain maintains the "world state"?

A. .acl

B. Reputation Manager

C. Distributed Ledger

D. .bna

Correct Answer: C

Distributed Ledger manages the world state and the transaction log in the blockchain. The world state is defined as the
state of all transactions on the Blockchain, where all nodes agree that all blocks on the Blockchain are at the same
state. It implements three key attributes. It efficiently calculates the cryptographic hash of the entire dataset of each

block. It efficiently transmits a minimal "delta” changes to the dataset, when a peer is out of sync and needs to "catch
up”. It minimizes the amount of stored data required for each peer to operate.
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QUESTION 4

Secure Hash Algorithm (SHA-256) output is always 256 bits or 32 bytes in length regardless of the length of the input
(even if input is millions of bytes). Select best answer.

A. NSA is spying on us so what\\'s it matters.

B. Depends on input

C. False

D. True

Correct Answer: D

SHA stands for Secure Hash Algorithm. This is used to prove data integrity. The same input(s) will always produce the
exact same output. This output is always 256 bits or 32 bytes in length regardless of the length of the input (even if input

is millions of bytes).

Reference: https://medium.com/all-things-ledger/bitcoins-implementation-of-blockchain-2be713f662c2

QUESTION 5

The primary difference between a blockchain and blockless solution is?

A. Blockless solutions are slower

B. Blockless solutions are less reliable

C. Transactions are not verified by the entire network in a blockless environment
D. Blockless solutions do not work on mobile devices

Correct Answer: C
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